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Answer the following guestions:

[1] In Fig. {1} F, =50N, F, «10.0N,
F,=250N, F, =5/34N. The fhee
couple G,= 20.0 N.M acts on the
face ABDE as shown:

of the resultant of the system.

(b} find the veetor expression of
the couple (Gy )

{ch find the moment of the system
about (I3 and hence, lind the
moment of the system about
(0.

(d) show that the system equivalent
o a single foree and find the

equation of its line of action
{e) what should be added o the
system at (E) for equilibrium?

[2] 1f the resultant couple of the system
shown in Fig. (2) equals #ero, find
the values of (F,) and (F;).




|3] In Fig. (3}, the uniform beam (BCDY

of mass 400 kg is kept in

equilibrium using the cable and the

suppaort at (B as shown. The smooth

light pulley rotates about a fixed

axis at (A}, Find:

(a) the magnitude and direction of
the reaction at (A).

(b} the tension in the cable,

(c) the magnitude and direction of
the reaction at {B).

In Fig. (4), the light rod (OABC) is
kept in horizontal position using
a spherical hinge a1 {O) and the two
cables (AE) and (BD) as shown.
Find the tension in the two cables,

The lamina shown in Fig. (3) has
a density of 2.0 kg/m”. A particle
my=1.5 kg is located at point (A) as
shown. Find:

(a) the coordinates (%.%¥) of the

center of mass.
(b) the moment of inertia (1..).

(€} the moment of inertia (1,,).
(d) the polar moment of inertia (1,).
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